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1.1 (1)

DFT
- N G & ... Gy G &
o GOy Discrete Fourier Transform
C.=a ., aep(-2ijk/N)
_ W, = eXp(- 2pi/N)
c=a ., aws
— DFT O(N?)
DFT
— DFT

a =N, c.expijk/N)




1.1 (2)

DFT
- [0,2m] N f(x) =4,
exp (ikx) k=0,1, ..., N-1
— C, DFT
— C, N a, DFT
FFT



1.2 FFT (1)

DFT =S
— N DFT
C.=a ., aen(-2nijk/N)

o N/2-1

=, @, (- 2pi >ij/r\|)+g‘;1J_”z’(f‘1 Qo &XP(- 20i (2] + 1K/ N)

o N/2-1

=4, eep(-2pijk/N') +exp(- 20ik/ N)Q " 0, exp(- 2pijk/ N')

N =N/2, g=ay;, 0=ay,

k
(=211 i(k+N/2)/N) = —exp(=21t ik/N)

o N/2-1 o N/2-1

G-, € exp(- 2pijk/ N") +exp(- 2pik/ N)gq i O, exp(- 2pijk/ N")

o N/2-1 o N/2-1

Con=a g € XP(-2pijk/N') - exp(- 20ik/N) ., O, exp(- 2pijk/N)
— N DFT N/2 DFT
exp(-21t ik)
— DFT

FFT: Fast Fourier Transform



1.2 FFT (2)

e FFT
— FFT N DFT T(N)
exp(—2tt ik)
2N 3N 5N
T(N) = 2T(N/2) + 5N
— T(1) =0

T(N) =5Nlog, N

- FFT 5N log, N N  DFT



1.3 Cooley-Tukey FFT (1)

— DFT * N2 DFT
C=a 1, €exp(-2pijk/N')+exp(-20ik/N)E ;" 0, exp(- 20ijk/ N')
o N/2-1 o N/2-1 (*)
Cone=A oy € eXp(- 20ijk/N)- exp(- pik/N)a _,  O;exp(- ijk/N’)
(D
8" e 2ikiNY 4 NN~ 4
A 0;exp(- 20ijk/N') < C;/\é exp(- 2pik/ N)




1.3 Cooley-Tukey FFT (2)

 Cooley-Tukey FFT

— N/2 DFT

Cooley-Tukey FFT Cooley & Tukey, 1965

0 1 2 3

A Co

8.4 /\\/5 Cl
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- KXXKe &

NE
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5 AN

A7 S

N=8 Cooley-Tukey FFT



1.3 Cooley-Tukey FFT (3)
o Cooley-Tukey FFT
— Cooley-Tukey FFT
— L+1

- FFT  in-place FFT

20 N
iy === o
dg v%‘%v C2
a CNININN C3
a; \. C4
5
a C
o Nl




1.3 Cooley-Tukey FFT (4)

 Cooley-Tukey FFT

= {a}
- g ) Jpa-dao P=log,N g
log-+ gl
Jo= ip_lzo Jo=1 ?p-l 1
p2=1




1.4 Stockham FFT (1)

sdf-sorting FFT

X, (. k)
a =2 B =2+ X 2B xa
X (0.%) Zt o g
ipp L -+ Gupeo1yp. DFT a,
X, (. k)
L=0 X (. 00=a L=p X, (0, k) = ¢ 20 ,

X,(,0) %,(0,K

N=32 L=2
X5, k)
. B

X, X, X o X

self-sorting FFT



1.4 Stockham FFT (2)

X0, K)
— DFT XX, X 0K

X1 (5 K) = X (G, K +X (B K w8t
Xiag (s ko ) = X (0, K =X (4B LK) w Pt
j:O’ 1""’B L_l k:O1 11---;“ L_l

e Stockham FFT

Xo= Xy = oo = Xy = X5
Stockham FFT

o Stockham FFT
— Self-sorting
— In-place



1.4 Stockham FFT (3)

Stockham FFT

DO 10 L=0, p-1
a =2t
B = 2p-L-1
DO 20 k=0, a -1
DO 30 j=0, B -1

>ﬁ_+1(j’k) - XL(j,k)+X|_(j+B ,k) Q)NKB
X O, kta )= X (,K-=X_(+B ,K UJNkB
30 CONTINUE

20 CONTINUE
10 CONTINUE

— DO20 DO30




1.4 Stockham FFT (4)

L+1 N=128 L=3

X410, K X410, k+a )

e N/

X G 2, T IB
L

L]

\L]

< >




1.5

FFT
~ 1.1(1)

(1)

(2) ¢/
3)

(4) UN

FFT

DFT

FFT

FFT

DFT

o

(1)

DFT  DFT

C.=a ., aen(-2ijk/N)

a, =N, c.exp(ijk/N)

FFT
N

FFT

FFT (1)

W = exp(=21t I/N)

FFT



15 FFT FFT (2)

FFT (11)
— Stockham FFT X X +1 L
FFT
FFT
DO 10 L=p-1, 0, -1
a =2-
B = 2p-L-1
DO 20 k=0, a -1
DO 30 | =0, B -1
0K = KK+ Xy O kta ) /2
X (4B K= X1 (K =Xy (, k+a ) w*® /2
30 CONTINUE
20 CONTINUE
10 CONTINUE

—-»--»I-»I



FFT

FFT



1.6 FFT

DFT

N Ny DET {al'x, jy}

{Cioc 1t

O Ny-10 Nx-1

Ckx,ky = a jy:Oa jx=0 ajx,ijXp(' 2p| jxkx/ NX) exp(' 2p| jyky/ Ny)

o

1 |Gy =@ e sy &P 200 j kel N

]

Ny-1 I ..
2 Ckx,ky: a. j;/:O Ckx,jyexp(- 2p| Jyky/ Ny)

N, N, FFT

X

N, N, FFT

5 NN, log, (N,N,)

FFT

FFT
FFT




DFT
DFT N=Im
K
j=rl+s s=0 ... 1 r=0 m-1
k=pm+q 9=0 ... m1 p=0 ... -1

N DFT
G = Comeg = By Qs &P(- 20i(pm+0)(rl +3)/ N)
|-

1 0 m1

= é o _y Q. XP(- 2pips/1)exp(- 2pigr / m) exp(- 2pigs/ N)

o I-1

=8 A", au.exn(- 2piar /m)]exp(- 2pigs/ NY] exp(- 2pips/)

> | m DFT 2
|  DFT
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DFT

m FFT

exp(—2m igs/ N)
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0O 1 2 15

SR8000



2.2

— Intel Pentium 111 IBM Power 4
— AMD Athlon DEC Alpha




2.3

e Stockham FFT

_ N2 N4 ... 1
DO 10 L=0, p-1
a =2t
B :2p—L—l
DO 20 k=0, a -1
DO30j=0, B -1
X1 (0K =X R +X B LK) w e
Xor (1, Kk ) = X0 (R =X (4B, K) 008
30 CONTINUE
20 CONTINUE
10 CONTINUE
DO20 DO30

— a>p
O(N 1/2)




2.4

— k
a *B =Nz
_ XL NA
/ I
X G0 T BL
v
X (+B k) < ol S \
« |

Sockham FFT X, (,K) X (i +B |, K)
NA*B L
< O >
-
i
= B
\
\
Xea (b0 Xia Gy ko)



— Stockham FFT

2.5

FFT

FFT FFT
L+1
m-
.......... - =)
XL+1(j’ k)

FFT

FFT

(1)

XL+2(j’ k)




- a, =28 B =2pL2

(2)

L

X1 G, 0 = %, (i, K #X (2B |, K) w26

Xia Gkt ) = X (K X, (42 LK) @26

Xar (B LK =X (B LK +X (3B LK) w2

XL+1(J +B L k+a |_) — XL(J +B Ly k) —XL (J+3B Ly k) (DZKB L

L+1

X0 =Xl X LR 0o

XL+2(J’ k+20 L) = XL+1(J’ k) _XL+1(J+[3 L k) wkBL

XL+2(j’ K+a L) = X|_+1(j’ K+a |_) +XL+1(j+B L K+a L) w (kraL)BL
X (k30 ) = Xl kta ) =X (4B L k+a ) w (krau)Be




2.9 (3)

FFT
— L+1 L
— W
L
X141 (5 K) = X 0, K) + X (+2B | k) w2
Xy G ko) = X (), K — X (i+2B ., K) w28t
Ya (B LK =X (B LK ot + X (+3B LK) w3k

Yo (+B Lkto )= X (+B LK) w (kraBL_X (j+3B [, k) @ (3k+au)BL
=—iX (B LK 0¥t +iX (+3B Kk w3

WABL=exp (-mi/2) =

L+1
XL+2 (1:7 k) XL+1 (j.1 k) + Y|_+1 (J+B L’ k)
Xi4o U, k¥2o0) Xi+10. K =Y (B 1K)

><L+2 (j1 k +Q |_)
><L+2 (j1 k+3a |_)

XL+1(J:’ k+(] L) +YL+1(j+[3 L’ k+C( |_)
XL+1(J1 K+a |_) _Y|_+1(J+B L K +a L)




2.5 (4)
FFT FFT
Byte/Fop
6/4 4/ 4 6.4
22/ 12 8/8 3.76
24/ 16
66/ 32 16/ 16 2.61
72148

Byte/Flop




2.6 (1)

e Stockham FFT

- X (0,8 N
— M M<N
O(N)
— FFT O(N log, N)
e FFT
— M=N V2
— 1.7 (2) N FFT
(1) M=N?2 M  FFT
(2) S q exp(—2m igs/ N)
3) M M  FFT
— (D) 3 FFT
- D @ O3 O(N)

— FFT O(N)
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3.1

dl-to-all broadcast

[

PUO
PU1
PU2
PU3

FFT

(1)

PUO1 2 3

S NN, log, (N,N) / p
N,N, / p



3.1

FFT

PUO
PU1
PU2
PU1
PUO
PUL
PU2
PU3

FFT

PU01230123

(2)
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FFT
— N

3.2 FFET

=N,N, N  FFT

D N, N, FFT vy

@ Ky

(3) dl-to-al broadcast
(4) N, N, FFT x

y

Cro

T o K

N
N

(1)

exp(-2m i K j, / N)

ki i Dl
f;123
=) k,[4i5]6}7
8| 9l10i11
X 12{13}14}15
y FFT
o
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3.2

— SR8000

— N =230

FFT

5Nlog,N/p
N/p

8GFLOPS
0.0625 /s

a

(2)



FFT

FFT

FFT



